
ASSIGNMENT – 2 
CLASS IV                                 MATHEMATICS 
CHAPTER 2                                ADDITION 
 
Do the following assignment in your Maths copy. 
 
1. Fill in the blanks : 

a) 3239 + 101 = 101 + ______ 
b) 5454 + 0 = 0 + ______ = ______ 
c) 2134 + 1 = ______ 
d) 5118 + ______ = 4163 + 5118 
e) 1215 + 2005 + 263 = 2005 + ______ + 1215 
f) 9236 + 100 = ______ 
g) 8051+ 10 = ______ 
h) 2673 + 1000 = ______ 

2. Word problems : 
a) Write the greatest 4-digit number and smallest 4-digit number 

with all the digits different. Find the sum of the two numbers 
obtained. 

b) In a university examination 1953 girls and 2165 boys appeared. 
How many students in all, appeared for the examination? 

c) There are 54453 men, 26725 women and 9052 children in a 
town. Find the population of the town. 

d) The difference of two numbers is 78538. If the smaller number 
is 975630, find the greater number. 

 
 
 
 
 

 

  


